THE EXISTING END PLATE, BOLT SIZES
AND POSITIONS ARE ASSUMED AND
ARE TO BE MEASURED ON SITE AND
REPORTED BACK TO STRUCTURAL
ENGINEER PRIOR TO FABRICATING

THE STEELWORK IN DETAIL 9.

DETAIL 9

200x90 PFC

%

%

203x133 UB 30 EXTENSION TO
EXISTING 203x133 UB 30
CONNECTION DETAIL

1
25x110mm NOTCH 203 UC 46
CUT IN TOP AND 100
BOTTOM OF PFC.
65 35 90
w0
N
] 1 [
200x90 PFC Rk ( 203 UC 46 (
™ ‘ —
L0 HS
8 ol Q
|
| 1
37 | ; ‘ Q j
+— I Z \ / t
) ]
N
PFC FIXED TO FIN 10mm THICK FIN PLATE
PLATE WITH 2 No. 1 WELDED TO 203 UC 46
M16 BOLTS. BEAM's FLANGES AND
WEB.
SECTION 1-1
DETAIL 1
200x90 PFC TO 203 UC 46
CONNECTION DETAIL
25x100mm NOTCH
CUT IN TOP AND
200x90 PFC FIXED  EXISTING BOTTOM OF PFC.
| TO ANGLE WITH 203 UC 46 110
| 2 No. M16 BOLTS.
} 60 55 45
Te]
| N
| Y: |
} rlii%:fi ,,,,,,,,,,,,,,,, 0 0 200X90 PFC
__ L _] ™ = o
| 200x90 PFC Al R
N3 sl NG 2 3/ i O
. o
i : I
© I J —
q- i S .
s \ a A O]
3 | 150mm LONG 100x100x10 J\ I
“ I ANGLE. 9
Ll>j |
/\V ANGLE FIXED TO WEB
OF EXISTING BEAM
WITH 2 No. M16 BOLTS. SECTION 3-3
PLAN VIEW
DETAIL 4
200x90 PFC TO EXISTING
203 UC 46
CONNECTION DETAIL
25x90mm NOTCH
CUT IN TOP AND
200x90 PFC FIXED  EXISTING BOTTOM OF PFC.
| TO ANGLE WITH 203x133 UB 30 100
1 2 No. M16 BOLTS.
' 60 55 45
- &
| M L ]
| f;iﬂ 777777777777777 o - 200x90 PFC
I _ ™ 1l [<p]
g 200x90 PFC Al R
N2 3 IANGET S/ g O
3 i jj\ 3 3 3
m |
D [ 1 ! .
= [
S i 150mm LONG 100x100x10 . .
N ANGLE. Q
i/
/\V ANGLE FIXED TO WEB
OF EXISTING BEAM
WITH 2 No. M16 BOLTS. SECTION 5-5
PLAN VIEW
DETAIL 7
200x90 PFC TO EXISTING
203x133 UB 30
CONNECTION DETAIL
10mm THICK END PLATE NEW END PLATE FIXED TO
WELDED TO END OF NEW EXISTING END PLATE WITH
203x133 UB 30, SIZE TO 7 4 No. M12 BOLTS OR LARGER
MATCH EXISTING END PLATE. TO MATCH EXISTING. 120
25 70 25
~ [ I f,,,,J
203x133 UB 30 / Ex. 203x133 UB 30 ® X
B O O
|
e
|
sl % DI
ot |9 ©
50 J L 50
: . : L\ L™~ 50x256x10mm THICK
T 00 O 07 ©F 4P imy =N FLANGE PLATE.
25 35 351 65 |35 35 25 5 75 95 125x255x10mm THICK
2222 2212 FLANGE PLATES AND BOTTOM | 125 | BOTTOM PLATE.
255 PLATE TO BE FIXED TO BOTTOM
FLANGES BOLTED THROUGH
v, WITH 12 No. M12 BOLTS. SECTION 7-7

2 No. 150mm LONG

=

FROM EXISTING 200x90 PFC
CONNECTION DETAIL

100x100x10 ANGLES. 27x110mm NOTCH EXISTING
0 | | CUT IN TOP AND 100 203x133 UB 30
0 BOTTOM OF PFC. 0 50
T
203 UC 46 i N
Ct 3. ¥ - - ]
E {Lu 203 UC 46 | ) EACH ANGLE IS FIXED
N 0 | TO EXISTING BEAM'S
—A © @ & WEB WITH 2 No. M16
% ~ f‘::I} g — BOLTS.
(U 7y % 8 %
I ]! Al
R0 ' -
A g @ =
=) I |
lSe) ‘ |
lse) Il = ] [ |
< ‘ } ~
(sp) |
< | |
4 | BEAM FIXED TO
ANGLES WITH
2 No. M16 BOLTS.
PLAN VIEW SECTION 2-2
2 DETAIL 2
203 UC 46 TO EXISTING 203x133 UB 30
CONNECTION DETAIL
—A, EXISTING
| 150x90 PFCs FIXED 150x90 PFC
| TO ANGLES WITH 25x90mm NOTCH
‘ 2 No. M12 BOLTS CUT IN TOP AND
| EACH. BOTTOM OF PFC.
60 | 60
| \
*********** 5 e 150x90 PFC ( I 150x90 PFC
«_ — o uy X [T9) X
\ 4 of T oz _AA' 0O ©)
! i AN ] S I . <
150x90 PFC i 3 150x90 PFC o Ot
| L \_
| g ]
ANGLES FIXED TO WEB | 2
OF EXISTING PFC WITH ! 3 2 No. 100mm LONG
2 No. M12 BOLTS. | - 100x100x10 ANGLES.
| A, o SECTION 4-4
DETAIL 5
150x90 PFC TO EXISTING
150x90 PFC
CONNECTION DETAIL
| EXISTING
«/ 150x90 PFCs FIXED 203 UC 46
} ‘ TO ANGLES WITH 25x100mm NOTCH
X 2 No. M12 BOLTS CUT IN TOP OF PFCs.
60 I 60 EACH.
,,,,,,,,,,, :95—}:71 r—__ B S L II
6 Jre = 6 15090 PFC T o —f ! 150x90 PFC
hE g || 7 T L8 “ocais o
31 < 8l g =
150x90 PFC A 150x90 PFC - |
g Uiy \ 0 @‘ g @
] I !
) I
S | 2 No. 100mm LONG
¥ | 100x100x10 ANGLES. J\
L ‘ [ ]
/\V ANGLES FIXED TO WEB
OF EXISTING PFC WITH
2 No. M12 BOLTS. SECTION 6-6
DETAIL 8
150x90 PFC TO EXISTING
203 UC 46
CONNECTION DETAIL
8 200x90 PFC
Ex. 200x90 PFC
% 200 %
30, 140 30
R T
T \_ |
| ] |
0, ———T | = B 1 S ——
45 | 45
200x90x10mm THICK 90
PLATE WELDED TO % %
TOP OF NEW PFC. \
PLATE FIXED TO BOTTOM NEW 200x90 PFC
FLANGE OF EXISTING PFC 200x90 PFC
WITH 2 No. M16 BOLTS. |~ T oo
DETAIL 10
8 NEW 200x90 PFC HUNG SECTION 8-8

DRAWING NOTES

1. FOR GENERAL NOTES AND STEELWORK NOTES
REFER TO DRAWING 22-2353-ST-004.

2. FOR LOCATIONS OF CONNECTION DETAILS
REFER TO DRAWING 22-2353-ST-004.

25x90mm NOTCH
CUT IN TOP AND

103x133 UB 30

BOTTOM OF PFC. 80
35 35
] [ p | TS)
200x90 PFC - -
|
\ o
NO,
|
% 5~ 2
|
| @ ©
I |
| Q

80x150x10mm THICK FIN
PLATE WELDED TO THE
WEB OF THE BEAM.

PFC FIXED TO FIN
PLATE WITH 2 No.
M16 BOLTS.

DETAIL 3
200x90 PFC TO 203x133 UB 30
CONNECTION DETAIL

200x90 PFC

200x90 PFC

%

60

80x200x10mm THICK FIN
/ PLATE WELDED TO THE
! BACK FACE OF THE PFC.

\

60
~

PFC FIXED TO FIN
PLATE WITH 2 No.
M16 BOLTS.

DETAIL 6
200x90 PFC TO 200x90 PFC
CONNECTION DETAIL

A | 31/03/2023 | CONSTRUCTION ISSUE. SG

Rev: | Date: Description: Initials:

(Uareham

& Associates

Tudor House, 1-3 The Avenue, Lightwater, Surrey, GU18 5RF
Telephone: 01276 451868
Web: www.warehamandassociates.co.uk

Client :

ROYAL FREE LONDON NHS
FOUNDATION TRUST

Project :

ITU CHILLERS UPGRADE

Drawing Title :

SOUTH WING PLATFORM
CONNECTION DETAILS
SHEET 1

Scales :

1:5 @ A1 UOS

Originated : Date :
SG MAR 2023

Checked : Date :
— MAR 2023

Drawing Number :

22-2353-ST-015

Revisions : Status :

CONSTRUCTION




